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~((24T*yn%)/(4n-48Th+300T°h-1264T°1h+4008 T* 1 - 10176 T° h +
21576 T h-39360T 1 +63084T8h-90048 T° 1 + 115464 T 1 - 133728 T A +
140380 T2 1 - 133728 T A+ 115464 T 1 - 90048 T> h + 63084 T 1 - 39360 T 1 +
21576 T** 1 - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T 1) ) +
(176 T°yh?) / (4n-48Th+300T*h-1264T>h + 4008 T* 1 - 10176 T° h + 21576 T* h -
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39360 T7Hh N 63084 T8 Hn -90048T° A + 115464 T® 1 - 133728 T 1 + 140380 T 2 &1 -

133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T1® 1 - 39360 T A +

21576 T¥ 1 -10176 T h + 4008 T h - 1264 T** 1 + 300 T*> 1 - 48 T2 1 + 4T 1) -
(668 Ty n?) /(4n-48Th+300T>h-1264T° 1 +4008 T*h-10176 T> 1 + 21576 T° 1 -

39360 T h+63084T8H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 11 -

133728 T 1+ 115464 T 1 - 90048 T> 1 + 63084 T° h - 39360 T 1 +

21576 T h - 16176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4T 1) +
(16407 yn®) / (41n-48Th+3060 T h-1264T>h+4008 T*h - 10176 T° h+ 21576 T° 1 -

393607 h+63084T8H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 11 -

133728 T 1+ 115464 T 1 -90048 T> 1+ 63084 T® 1 - 39360 T A +

21576 T** h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T 1) -
(293278 yn?) /(41 -48Th+300T°h-1264T>h+4008 T*h - 10176 T° h+ 21576 T° 1 -

39360T h+63084T8H-90048T° 1+ 115464 T n - 133728 T 51+ 140380 T 1 -

133728 T 7+ 115464 T 1 -90048 T> 1+ 63084 T® n-39360 T 1 +

21576 T 1 - 10176 T*° 1 + 4008 Tzeh—1264T21h+300T22h—48T23h+4T24h) +
(4064 T°yh?) / (4h-48Th+300T°h-1264T° h+4008 T*h - 10176 T° h + 21576 T° h -

39360 T h+63084T8H-90048T 1+ 115464 T 1 -133728 T 11+ 140380 T % 1 -

133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T1® h - 39360 T A1 +

21576 T¥ 1 -10176 T h + 4008 T?° h - 1264 T** 1 + 300 T h - 48 T2 1 + 4T 1) -
(4560 Ty h?) /(4n-48Th+300T°h-1264T° h+4008T*h-10176 T° h+ 21576 T° h -

39360T h+63084T8H-90048 T2 h + 115464 T 1 - 133728 T 1 + 140380 T2 11 -

133728 T 1+ 115464 T 1 - 90048 T> 1+ 63084 T°h - 39360 T 1 +

21576 T h - 16176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4T 1) +
(41927 yn®) / (4h-48Th+300T°h-1264T>h+4008 T* h - 10176 T° h+ 21576 T® h -

393607 h+63084T8H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 11 -

133728 T 1+ 115464 T 1 -90048 T> 1+ 63084 T® 1 - 39360 T 1 +

21576 T** h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T 1) -
(31047 y1n?) / (41h-48Th+300T° h-1264T>h+4008 T*h - 10176 T° h+ 21576 T° 1 -

39360T ' h+63084T8H-90048T° 1+ 115464 T 1 - 133728 T 71+ 140380 T*% 1 -

133728 T 7+ 115464 T 1 -90048 T> 1+ 63084 T® n-39360 T 1 +

21576 T 1 - 10176 T*° 1 + 4008 Tzeh—1264T21h+300T22h—48T23h+4T24h) +
(1760 T yh?) / (41 -48Th+300T°h - 1264T° h + 4008 T* h - 18176 T° h + 21576 T° h -

39360T h+63084T8H-90048T 1+ 115464 T 1 - 133728 T 11+ 140380 T 2 1 -

133728 T A+ 115464 T¥ 1 - 90048 T 71+ 63084 T1® 1 - 39360 T A +

21576 T¥ 1 -10176 T h + 4008 T?° h - 1264 T** 1+ 300 T*> 1 - 48 T2 1 + 4T 1) -
(624 T yn?) /(4n-48Th+300T>h-1264T° 1 +4008 T*h-10176 T> 1 + 21576 T h -

39360T' h+63084T8H-90048 T2 h + 115464 T 1 - 133728 T 1 + 140380 T2 11 -

133728 T 1+ 115464 T 1 - 90048 T> 1 + 63084 T°h - 39360 T 1 +

21576 T 1 - 16176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4 T** 1) -
(64T yn?) /(4n-48Th+300T°h-1264T> h+4008T*h-10176 T° h + 21576 T° h -

393607 h+63084T8H-90048 T2 h + 115464 T nh - 133728 T 1 + 140380 T2 1 -

133728 T 1+ 115464 T 1 -90048 T> 1+ 63084 T® 1 - 39360 T 1 +

21576 7% h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T ) +
(316 T yn?) /(4n-48Th+300T°h-1264T° h+ 4008 T* 1 - 18176 T> h + 21576 T° h -

39360T ' h+63084T8H-90048T° 1+ 115464 T 1 - 133728 T 51+ 140380 T 1 -

133728 T 7+ 115464 T 1 -90048 T> 1+ 63084 T® n-39360 T 1 +

21576 T 1 - 10176 T*° 1 + 4008 Tzeh—1264T21h+300T22h—48T23h+4T24h) -
(280 T yn?) /(4n-48Th+300T° h-1264T>h+4008 T*h-10176 T° h + 21576 T° 1 -

39360T h+63084T8H-90048T 1+ 115464 T 1 -133728 T 11+ 140380 T % 1 -
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133728 T 1+ 115464 T¥ 1 - 90048 T> 1 + 63084 T° h - 39360 T 1 +

21576 T 1 - 16176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T 1) +
(148 T yn?) /(4n-48Th+300T>h-1264T° h+4008 T*h-10176 T> 1 + 21576 T° h -

393607 h+63084T8H-90048 T2 h + 115464 T° n - 133728 T 1 + 140380 T2 11 -

133728 T 7+ 115464 T 1 -90048 T> 1+ 63084 T® 1 -39360 T 1 +

21576 7% h - 16176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T** 1) -
(48T yn®) /(4n-48Th+300T°h-1264T° 1+ 4008 T*h-10176 T° h+ 21576 T°h -

39360T h+63084T8H-90048T° 1+ 115464 T°n - 133728 T 1+ 140380 T2 1 -

133728 T A+ 115464 T 1 - 90048 T® 71+ 63084 T® h - 39360 T A +

21576 T¥ 1 -10176 T h + 4008 T*° h - 1264 T** 1 + 300 T*> 1 - 48 T2 1 + 4T 1) +
(8T*°yn?)/(4n-48Th+300T°h-1264T>h+4008T* h-10176 T° h+ 21576 T°h -

39360T h+63084T5H-90048 T°h + 115464 T 1 - 133728 T 1 + 140380 T2 11 -

133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T1® 1 - 39360 T A1 +

21576 T¥ 1 -10176 T h + 4008 T?° h - 1264 T** 1 + 300 T*> h - 48 T2 1 + 4T 1) -
(32T*h*ap) /(41 -48Th+300 T h-1264 T h+4008 T*h - 10176 T> 1 + 21576 T° 1 -

39360T' h+63084T8H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 1 -

133728 T 1+ 115464 T 1 - 90048 T> 1 + 63084 T° h - 39360 T 1 +

21576 7% 1 - 10176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T 1) +
(224T°n%ap) /(41 -48Th+300T> 1 -1264T° h + 4008 T* 11 - 16176 T> h + 21576 T 1 -

393607 h+63084T8H-90048 T2 h + 115464 T° n - 133728 T 1 + 140380 T2 11 -

133728 T 7+ 115464 T 1 -90048 T> 1+ 63084 T1® 1 -39360 T 1 +

21576 T** 1 - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T** 1) -
(816 T°h*ap) /(41 -48Th+300T° h-1264T>h+4008 T*h - 10176 T> h + 21576 T° h -

39360T ' h+63084T8H-90048T° 1+ 115464 T°n - 133728 T 21+ 140380 T % 1 -

133728 T A +115464T¥ 1 - 90048 T 71+ 63084 T® h - 39360 T A +

21576 T¥ 1 -10176 T 1 + 4008 T° h - 1264 T** 1 + 300 T*> 1 - 48 T2 1 + 4T 1) +
(1920 T h%ae) / (41 -48Th+300 T h -1264T> h + 4008 T* h - 18176 T° h + 21576 T° 1 -

39360 T h+63084T51H -90048 T2 h + 115464 T 1 - 133728 T 1 + 140380 T2 11 -

133728 T A+ 115464 T 1 - 90048 T 1+ 63084 T1® 1 - 39360 T A1 +

21576 T¥ 1 -10176 T h + 4008 T?° h - 1264 T** 1+ 300 T*> h - 48 T2 1 + 4T 1) -
(3248T%n%a,) / (41n-48Th+360T°h-1264T> 1+ 4008 T* h - 10176 T° h+ 21576 T° 1 -

39360T' h+63084T8H-90048 T°h + 115464 T n - 133728 T 1 + 140380 T2 1 -

133728 T 1+ 115464 T¥ 1 - 90048 T> 1+ 63084 T° h - 39360 T 1 +

21576 7% 1 - 10176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T 1) +
(41287T°n*a,) / (41 -48Th+300T°h-1264T> 1+ 4008 T* h - 10176 T° h+ 21576 T° 1 -

393607 h+63084T8H-90048 T2 h + 115464 T°n - 133728 T 1 + 140380 T2 11 -

133728 T 7+ 115464 T 1 -90048 T> 1 + 63084 T1® 1 -39360 T 1 +

21576 7% h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T 1) -
(3936 T 1’ ay) / (41 -48Th+300T° 1 -1264T° h + 4008 T* h - 18176 T° h + 21576 T° h -

39360T h+63084T8H-90048T 1+ 115464 T n-133728 T 21+ 140380 T % 1 -

133728 T A+ 115464 T 1 - 90048 T° 71+ 63084 T® h - 39360 T A +

21576 T¥ 1 -10176 T 1 + 4008 T*° h - 1264 T** 1+ 300 T 1 - 48 T2 1 + 4T 1) +
(24321 1% a,) /(41 -48Th+300T° 1 -1264T° h+ 4008 T* h - 10176 T h + 21576 T -

39360T h+63084T5H -90048 T°h + 115464 T 1 - 133728 T 1 + 140380 T2 11 -

133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T1® 1 - 39360 T A1 +

21576 T¥ 1 -10176 T h + 4008 T?° h - 1264 T** 1 + 300 T*> h - 48 T2 1 + 4T 1) -
(243272 n*aq) / (41 -48ThHh+300T°h-1264T>1h + 4008 T* 1 - 10176 T° h + 21576 T° 1 -

39360T h+63084T8H-90048 T°h + 115464 T n - 133728 T 1 + 140380 T2 1 -

133728 T 1+ 115464 T¥ 1 - 90048 T> 1+ 63084 T° h - 39360 T 1 +
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21576 T h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T ) +
(3936 T 1’ ap) / (41 -48Th+300T° 1 -1264T° h + 4008 T* h - 10176 T° h + 21576 T -
39360T h+63084T8H-90048T 1+ 115464 T°hn - 133728 T 71+ 140380 T % 1 -

133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T® 1 - 39360 T A1 +
21576 T¥ 1 -10176 T h + 4008 T*° 1 - 1264 T** 1 + 300 T h - 48 T2 1 + 4T 1) -

(4128 T 1% aq) /(41 -48Th+300T° 1 -1264T° h+ 4008 T* h - 10176 T° h + 21576 T° h -
39360T h+63084T57H -90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 11 -
133728 T 1+ 115464 T 1 - 90048 T 1 + 63084 T° h - 39360 T 1 +
21576 T 1 -10176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4T 1) +

(32487 n*aq) / (41h-48Th+300T°h-1264T>1h+ 4008 T* 1 - 10176 T° h + 21576 T® 1 -
39360T' h+63084T8H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 1 -
133728 T 1+ 115464 T 1 -90048 T> 1+ 63084 T1° n - 39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T** 1) -

(1920 7" n?aq) / (41h -48Th+300 T h-1264T> 1 + 4008 T* h - 10176 T° h + 21576 T° 1 -
393607 h+63084T8H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 1 -
133728 T 7+ 115464 T 1 -90048 T> 1+ 63084 T® n-39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T ) +

(816 T h’ap) /(4 -48Th+300T° h-1264Th+4008T*h - 10176 T> h + 21576 T° h -
39360T h+63084T8H-90048T 1+ 115464 T n - 133728 T 21+ 140380 T % 1 -
133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T® n - 39360 T A1 +
21576 T¥ 1 -10176 T 1 + 4008 T*° h - 1264 T** 1+ 300 T h - 48 T2 1 + 4T 1) -

(2247 1% ap) /(41 -48Th+300T°h-1264T> h+4008T" 1 - 10176 T> h + 21576 T° h -
39360 T h+63084T5H-90048 T°h + 115464 T 1n - 133728 T 1 + 140380 T2 11 -
133728 T 1+ 115464 T 1 - 90048 T 1 + 63084 T° h - 39360 T 1 +
21576 T 1 - 10176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4T 1) +

(32T h%ap) /(47 -48Th+300T° - 1264 T> h + 4008 T* 1 - 10176 T> 11 + 21576 T° 1 -
39360T' h+63084T8H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 1 -
133728 T 1+ 115464 T 1 -90048 T> 1+ 63084 T® h - 39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T ) +

(24T y 1’ xoyo) /(41 -48Th+300T° 1 -1264T° 1+ 4008 T* 1 - 18176 T> h + 21576 T° h -
393607 h+63084T8H-90048 T2 h+ 115464 T n - 133728 T 1 + 140380 T2 1 -
133728 T 7+ 115464 T 1 -90048 T> 1+ 63084 T® n-39360 T 1 +
21576 T h - 18176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T** 1) -

(164 T*y 1’ xoye) / (41 -48Th +300T>h-1264T° 1+ 4008 T*h - 18176 T° 1 + 21576 T° 1 -
39360 T h+63084T8H-90048T 1+ 115464 T°n - 133728 T 71+ 140380 T % 1 -
133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T1® 1 - 39360 T A1 +
21576 T¥ 1 -10176 T 1 + 4008 T*° 1 - 1264 T** 1+ 300 T h - 48 T2 1 + 4T 1) +

(576 TPy h’ Xo Yo) / (41 -48Th +300T>h - 1264 T° 1 + 4008 T* h - 18176 T° 1 + 21576 T° 1 -
39360 T h+63084T5H -90048 T°h + 115464 T 1 - 133728 T 1 + 140380 T2 11 -
133728 T 1+ 115464 T 1 - 90048 T 1 + 63084 T° h - 39360 T 1 +
21576 T 1 - 10176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4T 1) -

(1276 T v 1’ Xo yo) / (41 - 48 Th +300 T h - 1264 T> 1 + 4008 T* 1 - 10176 T° h + 21576 T® 1 -
39360 T’ h+63084T8H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 1 -
133728 T 1+ 115464 T 1 -90048 T> 1+ 63084 T® h - 39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T ) +

(1936 T/ v 1’ Xo yo) / (41 -48Th +300T° h - 1264 T> 1 + 4008 T* 1 - 10176 T° h + 21576 T° 1 -
393607 h+63084T8H-90048 T2 h + 115464 T 1 - 133728 T 1 + 140380 T2 1 -
133728 T 7+ 115464 T 1 -90048 T> 1+ 63084 T® 1 -39360 T 1 +
21576 T 1 -10176 T h+ 4008 T*° 1 - 1264 T°' h + 300 T h - 48 T2 h + 4T 1) -
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(1964 T8y 1’ X yo) / (41 -48Th +300T* 1 - 1264T° 1 + 4008 T* h - 10176 T 1 + 21576 T° h -
39360T h+63084T8H-90048T 1+ 115464 T° 1 - 133728 T 71+ 140380 T 2 1 -
133728 T A +115464T¥ 1 - 90048 T 1+ 63084 T1® 1 - 39360 T A1 +
21576 T¥ 1 -10176 T 1 + 4008 T?° h - 1264 T** 1 + 300 T h - 48 T2 1 + 4T 1) +
(920T° vy’ XoYe) /(40 -48Th+300T*h-1264T> 1 + 4008 T* 1 - 10176 T° h + 21576 T° 1 -
39360T h+63084T5H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 11 -
133728 T 1+ 115464 T 1 - 90048 T 1 + 63084 T° h - 39360 T 1 +
21576 T 1 - 10176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4T 1) +
(11727 vy’ Xo yo) / (41 -48Th + 300 T h - 1264 T> h + 4008 T* 1 - 10176 T° h + 21576 T° 1 -
39360T' h+63084T8H-90048 T°h + 115464 T n - 133728 T 1 + 140380 T2 1 -
133728 T 1+ 115464 T 1 -90048 T 1+ 63084 T1® h - 39360 T 1 +
21576 T** 1 - 10176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T 1) -
(3724 T v B’ Xo yo) / (41 -48Th +300T° h - 1264 T> 1 + 4008 T* 1 - 10176 T° h + 21576 T° 1 -
39360T h+63084T8H-90048T° 1+ 115464 T 1 - 133728 T 71+ 140380 T*% 1 -
133728 T 7+ 115464 T 1 -90048 T> 1+ 63084 T® n-39360 T 1 +
21576 T** h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T ) +
(5764 T y 1’ Xo yo) / (41 -48Th+300T° h-1264T> h + 4008 T* h - 10176 T> h + 21576 T° h -
39360 T h+63084T8H-90048T 1+ 115464 T 1 - 133728 T 51+ 140380 T 2 1 -
133728 T A+ 115464 T¥ 1 - 90048 T 71+ 63084 T1® 1 - 39360 T A +
21576 T¥ 1 -10176 T h + 4008 T*° h - 1264 T** 1 + 300 T*> h - 48 T 1 + 4T 1) -
(6516 T v 1’ Xo yo) / (41 -48Th+300T° h - 1264 T h + 4008 T* 1 - 10176 T> h + 21576 T° h -
39360T h+63084T5H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 11 -
133728 T 1+ 115464 T 1 - 90048 T 1 + 63084 T° h - 39360 T 1 +
21576 T h - 16176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4T 1) +
(5832T* yn’Xoye) /(41 -48Th+300T° h-1264T>1h + 4008 T*h - 10176 T° h+ 21576 T® 1 -
39360 T h+63084T8H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 1 -
133728 T 1+ 115464 T 1 -90048 T> 1 + 63084 T® n - 39360 T 1 +
21576 T** 1 - 10176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T 1) -
(4188 T y 1’ X ye) / (41 -48Th +300T° h - 1264 T> 1 + 4008 T* 1 - 10176 T° h + 21576 T° 1 -
39360T ' h+63084T8H-90048T° 1+ 115464 T n - 133728 T 1+ 140380 T*% 1 -
133728 T3 7+ 115464 T 1 -90048 T> 1+ 63084 T® n-39360 T 1 +
21576 T** h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T 1) +
(2336 Ty’ Xoyo) /(41 -48Th+300T° h-1264T> h + 4008 T* h - 10176 T> h + 21576 T° h -
39360T h+63084T8H-90048T 1+ 115464 T 1 - 133728 T 71+ 140380 T 2 1 -
133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T1® 1 - 39360 T A +
21576 T¥ 1 -10176 T h + 4008 T 1 - 1264 T** 1 + 300 T*> h - 48 T2 1 + 4T 1) -
(956 T vy h’XoYo) / (401 -48Th+360T*h-1264T> 1 + 4008 T* 1 - 10176 T° h + 21576 T* 1 -
39360T h+63084T5H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 11 -
133728 T 1+ 115464 T 1 - 90048 T> 1 + 63084 T° h - 39360 T 1 +
21576 T h - 16176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4T 1) +
(256 T vy 1’ Xoye) / (41 -48Th+300T> h-1264T> 1+ 4008 T* 1 - 10176 T° h + 21576 T* h -
393607 h+63084T8H-90048 T°h + 115464 T nh - 133728 T 1 + 140380 T2 11 -
133728 T A+ 115464 T 1 -90048 T 1+ 63084 T° n - 39360 T 1 +
21576 T** 1 - 10176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T** 1) -
(36 T°yn’xoyo) /(41 -48Th+300T° 1 -1264T° 1+ 4008 T* 1 - 18176 T° 1 + 21576 T° h -
39360T h+63084T8H-90048T° 1+ 115464 T n - 133728 T 51+ 140380 T 1 -
133728 T 7+ 115464 T 1 -90048 T> 1+ 63084 T® n-39360 T 1 +
21576 T*h-10176 T 1 + 4008 T h - 1264 T*' h + 300 T** 1 - 48 T h + 4 T** 1) +
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10T '
[4T37 (—7—) h“xeye]/(41"1—48Th+300T2h—1264T3h+4008T4h—10176T5h+
A n

21576 T°h-39360T 1 +63084T8h-90048 T° 1 + 115464 T 1 - 133728 T A1 +
140380 T*? 1 - 133728 T 1+ 115464 T h - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4 T** 1) -

4 1 T 4 2 3 4 5
[32T y[g—g]h xgyg)/<4h—48Th+309T h-1264T>h +4008T*h-10176 T° A +
21576 T°h-39360T 1 +63084T8h-90048 T° 1 + 115464 T 1 - 133728 T A +

140380 T2 1 - 133728 T 1+ 115464 T h - 90048 T> h + 63084 T 1 - 39360 T 1 +
21576 7% 1 - 16176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T 1) +
[132T5y (1 - I] 7% Xo Yo
n n
21576 T°h-39360T 1 +63084T8h-90048 T° 1 + 115464 T 1 - 133728 T A +

140380 T2 1 - 133728 T 1+ 115464 T h - 90048 T> h + 63084 T 1 - 39360 T 2 +
21576 T** h - 16176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T** 1) -

/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+

10T
(360T6y (—- —] h“xaya)/(4h-48Th+300T2h-1264T3h+4098T4h-19176T5h+
A n

21576 T8 h-39360T A1 +63084T8 71 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1+ 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 T8 1 - 10176 T 1 + 4008 T 1 - 1264 T2 h + 300 T2 1 - 48 T2 h + 4T24h) +

1T
(732T7y (—- —] h4xaya)/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+
n n

21576 T®h-39360T A1 +63084 T8/ -90048 T°h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 1 +
21576 T8 1 - 10176 T2 1 + 4008 T 1 - 1264 T2 h + 300 T 1 - 48 T2 h + 4T24h) -

A
21576 T°h-39360T A1 +63084T8 1 -90048 T°h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 TV 1 +
21576 T h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T ) +

17
(1192T87( [—- —] h4xeye)/(4h—48Th+30@T2h—1264T3h+4008T4h—10176T5h+
A

1T
{1628T97( [f- f] h4xeye)/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+
A n

21576 T®h -39360T  h +63084T8h -90048T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 1 +
21576 T 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 1 + 4T24h) -

10 E I 4 2 3 4 5
1900 T°° v - h” Xe Yo (4h—48Th+300T h-1264T° h+4008T " h-10176T" h +
h hn

21576 T®h -39360T 1 +63084T8h -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1h - 133728 T h + 115464 T h - 90048 T 1 + 63084 T 1 - 39360 TV A +
21576 T 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 A + 4T24h) +

11 E I 4 2 3 4 5
1900 Ty | = - —| h*xgye|/ (41 -48Th+300T2h - 1264 T> 1 + 4008 T* 1 - 10176 T° 1 +
n n

21576 T®h -39360T  h +63084T8h -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 h - 133728 T3 h + 115464 T 1 - 90048 T 1 + 63084 T 1 - 39360 TV A +
21576 T¥ 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 1 + 4T24h) -

12 E T) 4 2 3 4 5
1628 T v - h™ Xe Ye (4h—48Th+309T h-1264T°h+4008T " h-10176T° h +
h h

21576 T®h -39360T  h +63084T8h -90048T° h + 115464 T 1 - 133728 T A +
140380 T2 1h - 133728 T 1 + 115464 T 1 - 90048 T 1 + 63084 T 1 - 39360 TV A +
21576 T 1 - 10176 T 1 + 4008 T° 1 - 1264 T* 1 + 300 T>* h - 48 T2 h + 4T* 1) +
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1192 T 1T 2 3 4 5
Y ' XoYo|/ (4N -48Th+300T°h-1264T h+4008 T*h-10176 T° 1 +
n n

21576 T8 h-39360T /1 +63084T% /1 -90048 T°h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4 T** 1) -

732 T14 1 I 4 2 3 4 5
y|=-—|n*xeye|/ (4n-48THn+300T°1h-1264T>h + 4008 T* 1 - 10176 T° 1 +
n n

21576 T8 h-39360T A1 +63084T8 71 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1+ 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 7% 1 - 16176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T 1) +

15 1 T 4 2 3 4 5

(360T y(g—g]h xgyg)/(4h—48Th+300T H-1264T>h+4008T*h-10176 T° h +

21576 T8 h-39360T /1 +63084T8 71 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 T¥ 1 - 10176 T*° 1 + 4008 Tzeh—1264T21f1+36@T22f1—48T23h+4T24h) -

132 16 1T n* 2 3 4 5
Y| - XoYo|/ (4n-48Th+300T>h-1264T>h+4008 T* 116176 T° h +
n h

21576 T8 h-39360T A1 +63084T8 71 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1+ 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 T8 1 - 10176 T 1 + 4008 T 1 - 1264 T2 h + 300 T2 1 - 48 T2 h + 4T24h) +

17 1 1), 2 3 4 5
32Ty | —-—| A" Xo Yo (4h—48Th+300T h-1264T° h+4008T h-10176T h +
h h

21576 T°h-39360T 1 +63084T8h-90048 T° 1+ 115464 T 1 - 133728 T A +
140380 T2 1 - 133728 T 1+ 115464 T h - 90048 T> 1 + 63084 T 1 - 39360 T 11 +
21576 T** 1 - 16176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T** 1) -
(4 Ty (3
A
21576 T -39360T 1 +63084T8n-90048T° 1+ 115464 T 1 - 133728 T A +
140380 T2 1 - 133728 T 1+ 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 11 +
21576 T** h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T** 1) -

1
Xg + [—1+*
T

T
_7) ﬁ“xeye]/(4h—48Th+3eeT2h-1264T3h+4@08T4h—10176T5h+
A

[28 Ty a3

Xg

yg)/(4h—48Th+BOGTzh—1264T3h+4608T4h—10176T5h+

21576 T®h -39360T  h +63084T8h -90048T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 1 +
21576 T 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 1 + 4T24h) +

[168 T ynd Xo

1
Xg + (71+*
T

ye)/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+

21576 T®h -39360T 1 +63084T8h -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1h - 133728 T h + 115464 T h - 90048 T 1 + 63084 T 1 - 39360 TV A +
21576 T 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 A + 4T24h) -

6 3 }
548 T° vy h® |Xg + |-1+
T

xg] ye)/(4h—48Th+300T2h—1264T3h+4008T4ﬁ—10176T5h+

21576 T®h -39360T  h +63084T8h -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 h - 133728 T3 h + 115464 T 1 - 90048 T 1 + 63084 T 1 - 39360 TV A +
21576 T¥ 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 1 + 4T24h) +

1

(1144 T/ ynd (xa I [
T

xe) yej/(41"1—48Th+300T2h—1264T3h+4008T4f1—10176T5h+

21576 T®h -39360T  h +63084T8h -90048T° h + 115464 T 1 - 133728 T A +
140380 T2 1h - 133728 T 1 + 115464 T 1 - 90048 T 1 + 63084 T 1 - 39360 TV A +
21576 T n - 10176 T 1 + 4008 T° 1 - 1264 T*' 1 + 300 T>* h - 48 T2 1 + 4T* 1) -
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1

[1732T87h3 (x9+ -1+ — xg) ye]/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+
T

21576 T8 h-39360T /1 +63084T% /1 -90048 T°h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4T 1) +

1

[1936 T vn? (xe + -1+ —
T

xg) y@]/(4h—48Th+300T2h—1264T3ﬁ+4008T4h—10176T5h+

21576 T8 h-39360T A1 +63084T8 71 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1+ 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 7% h - 16176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4 T** 1) -

1
(1564 T v 83 (xe + [-1 + - Xo

y@]/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+

21576 T8 h-39360T /1 +63084T8 71 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 T 1 - 10176 T 1+ 4008 T h - 1264 T2 h + 300 T 1 - 48 T2 1 + 4T24h) +

1

[596T11yh3 Xo + (_1+ -
T

x@] ya)/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+

21576 T8 h-39360T A1 +63084T8 71 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1+ 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 T8 1 - 10176 T 1 + 4008 T 1 - 1264 T2 h + 300 T2 1 - 48 T2 h + 4T24h) +

1

[596T12ﬂz3 Xg + (-1+— Xo
T

ya)/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+

21576 T®h-39360T A1 +63084 T8/ -90048 T°h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 1 +
21576 T8 1 - 10176 T2 1 + 4008 T 1 - 1264 T2 h + 300 T 1 - 48 T2 h + 4T24h) -

1
(1564 Ty n? (xe + [-1 + - X

ye]/(4h—48Th+30@T2h—1264T3h+4008T4h—10176T5h+

21576 T°h-39360T A1+ 63084 T8 1 -90048 T°h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 TV 1 +
21576 T h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T ) +

1
{1936 Ty 13 (xe + [_1 + =
T

Xg

y@]/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+

21576 T®h -39360T  h +63084T8h -90048T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 1 +
21576 T 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 1 + 4T24h) -

1
[1732T15m3 (x@+ [71+ - xg) ye]/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+
T

21576 T®h -39360T  h +63084T8h -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1h - 133728 T h + 115464 T h - 90048 T 1 + 63084 T 1 - 39360 TV A +
21576 T 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 A + 4T24h) +

1
(1144 T v 73 (xg + -1+ =
T

xg) ye]/(4h—48Th+300T2h—1264T31’7+4008T4h—10176T5h+

21576 T®h -39360T 1 +63084T8h -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 h - 133728 T3 h + 115464 T 1 - 90048 T 1 + 63084 T 1 - 39360 TV A +
21576 T¥ 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 1 + 4T24h) -

1

(548T17ﬂ13 Xo+ | -1+ —| Xe
T

ye)/(4h—48Th+360T2h—1264T3h+4008T4h—10176T5h+

21576 T®h -39360T  h +63084T8h -90048T° h + 115464 T 1 - 133728 T A +
140380 T2 1h - 133728 T 1 + 115464 T 1 - 90048 T 1 + 63084 T 1 - 39360 TV A +
21576 T¥ 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T2 h - 48 T3 1 + 4T24h) +
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1

[168T18yh3 Xo+ | -1+ —| Xo yg)/(4h—48Th+300T2h—1264T3h+4098T4h—10176T5h+
T

21576 T8 h-39360T /1 +63084T% /1 -90048 T°h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4 T** 1) -

1
[28T197(h3 xe+[—1+; Xo

yg)/(4h—48Th+309T2h—1264T3h+4008T4h—10176T5h+

21576 T°h-39360T 1 +63084T8h-90048 T° 1 + 115464 T 1 - 133728 T A +
140380 T2 1 - 133728 T 1+ 115464 T h - 90048 T> h + 63084 T 1 - 39360 T 1 +
21576 7% 1 - 16176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T 1) +

(5T*vn*xiys)/(4nh-48Th+300T° h-1264T> h+4008T*h-10176 T° h+ 21576 T° h -
393607 h+63084T8H-90048 T2 h + 115464 T° n - 133728 T 1 + 140380 T2 11 -
133728 T 7+ 115464 T 1 -90048 T> 1 + 63084 T® 1 -39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T 1) -

(36 TP vh*x5ys) /(4n-48Th+300T° h-1264T>h+4008 T* 1 - 10176 T> h + 21576 T° 1 -
39360 T h+63084T8H-90048T 1+ 115464 T n-133728 T 1+ 140380 T % 1 -
133728 T A +115464T¥ 1 - 90048 T 71+ 63084 T® h - 39360 T A +
21576 T¥ 1 -10176 T h + 4008 T*° h - 1264 T** 1 + 300 T*> 1 - 48 T2 1 + 4T 1) +

(138T*yn*x3ys) / (4h-48Th+300T°h-1264T° 1 +4008 T*h-10176 T° 1+ 21576 T° h -
39360T h+63084T5H-90048 T°h + 115464 T n - 133728 T 1 + 140380 T2 11 -
133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T1® h - 39360 T A +
21576 T¥ 1 -10176 T2 h + 4008 T?° h - 1264 T** 1 + 300 T*> h - 48 T 1 + 4T 1) -

(352T° vy n*x3ys) / (4n-48Th+300T>h-1264T> 1 + 4008 T* h - 10176 T° h + 21576 T 11 -
39360T h+63084T8H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 1 -
133728 T 1+ 115464 T¥ 1 - 90048 T> 1+ 63084 T® h - 39360 T 1 +
21576 7% 1 - 16176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T 1) +

(679 Ty n*x3ys) /(4 -48Th+300T*h-1264T> 1+ 4008 T* 1 - 10176 T° h + 21576 T° h -
393607 h+63084T8H-90048 T2 h + 115464 T nh - 133728 T 1 + 140380 T2 11 -
133728 T 7+ 115464 T 1 -90048 T> 1+ 63084 T® 1 -39360 T 1 +
21576 7% h - 16176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T** 1) -

(1060 T v 1* x5 y5) / (4n-48Th+300T*h-1264T° 1 + 4008 T*h - 10176 T° 1 + 21576 T° 1 -
39360T h+63084T8H-90048T° 1+ 115464 T n - 133728 T 51+ 140380 T2 1 -
133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T® h - 39360 T A +
21576 T¥ 1 -10176 T h + 4008 T° h - 1264 T** 1 + 300 T> 1 - 48 T2 h + 4T 1) +

(1404 T8y n* X3 y5) /(4N -48Th+300T*h-1264T° 1+ 4008 T*h - 10176 T° 1 + 21576 T° h -
39360T h+63084T5H -90048 T2 h + 115464 T 1 - 133728 T 1 + 140380 T2 11 -
133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T1® 1 - 39360 T A1 +
21576 T¥ 1 -10176 T h + 4008 T?° h - 1264 T** 1 + 300 T h - 48 T 1 + 4T 1) -

(1596 T° v 1* X3 ys) / (4h-48Th +300T° h-1264T° h + 4008 T* 1 - 10176 T° h + 21576 T® 1 -
39360T h+63084T8H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 1 -
133728 T 1+ 115464 T¥ 1 - 90048 T> 1+ 63084 T° h - 39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T 1) +

(1565 T vy 1* x3ys) / (4h-48Th+300T° h-1264T> h + 4008 T* 1 - 10176 T° h + 21576 T° 1 -
393607 h+63084T8H-90048 T2 h + 115464 T°h - 133728 T 1 + 140380 T2 11 -
133728 T 7+ 115464 T 1 -90048 T> 1+ 63084 T® 1 -39360 T 1 +
21576 T** 1 - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T 1) -

(1324 Ty h* xGys) /(4n-48Th+300T° h-1264T>h + 4008 T* h - 10176 T> h + 21576 T® h -
39360 T h+63084T8H-90048T° 1+ 115464 T n - 133728 T 1+ 140380 T2 1 -
133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T® h - 39360 T A +
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21576 T h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T ) +

(968 T2y n*x3ys) /(4h-48Th+300T°h-1264T°h+4008 T*h-10176 T° 1+ 21576 T° 1 -
39360T h+63084T8H-90048T 1+ 115464 T°n - 133728 T 71+ 140380 T % 1 -
133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T® 1 - 39360 T A1 +
21576 T¥ 1 -10176 T h + 4008 T*° 1 - 1264 T** 1 + 300 T h - 48 T2 1 + 4T 1) -

(600 Ty n*x5y;) /(4h-48Th+300T°h-1264T° h+4008 T*h - 10176 T° 1+ 21576 T° h -
39360T h+63084T57H -90048 T2 h + 115464 T° 1 - 133728 T 1 + 140380 T2 11 -
133728 T 1+ 115464 T 1 - 90048 T 1 + 63084 T° h - 39360 T 1 +
21576 T 1 -10176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4T 1) +

(307 T vy n*x3ys) /(4 -48Th+300T*h-1264T> 1 + 4008 T* 1 - 10176 T° h + 21576 T 11 -
39360T' h+63084T8H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 1 -
133728 T 1+ 115464 T 1 -90048 T> 1+ 63084 T1° n - 39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4T** 1) -

(1247 yn*x3y5) /(4 -48Th+300T*h-1264T> 1 + 4008 T* 1 - 10176 T° h + 21576 T° h -
393607 h+63084T8H-90048 T2 h + 115464 T n - 133728 T 1 + 140380 T2 1 -
133728 T 7+ 115464 T 1 -90048 T> 1+ 63084 T® n-39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T ) +

(38T yn*x3yg) / (4n-48Th+300T°h-1264T>h+4008 T*h - 10176 T° h + 21576 T° h -
39360T h+63084T8H-90048T 1+ 115464 T n - 133728 T 21+ 140380 T % 1 -
133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T® n - 39360 T A1 +
21576 T¥ 1 -10176 T 1 + 4008 T*° h - 1264 T** 1+ 300 T h - 48 T2 1 + 4T 1) -

(8T vyn*x3ys)/(4n-48Th+300T*h-1264T° 1+ 4008 T*h-10176 T° 1 + 21576 T° h -
39360 T h+63084T5H -90048 T2 h + 115464 T 1 - 133728 T 1 + 140380 T2 11 -
133728 T 1+ 115464 T 1 - 90048 T 1 + 63084 T° h - 39360 T 1 +
21576 T 1 - 10176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4T 1) +

(T®yn*x3ys)/(4n-48Th+300T° h-1264T>1h+4008 T*h - 10176 T° h+ 21576 T® 1 -
39360T' h+63084T8H-90048 T°h + 115464 T n - 133728 T 1 + 140380 T2 1 -
133728 T 1+ 115464 T 1 -90048 T> 1+ 63084 T® h - 39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T** 1) -

(8 T3y 1 Xe X

1
Xg + (—1+—
T

yg]/(4h-48Th+3eeT2h-1264T3h+4008T4h-10176T5h+

21576 T8 h-39360T A1 +63084T8 /1 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1+ 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 TV 1 +
21576 T8 1 - 10176 T 1 + 4008 T 1 - 1264 T2 h + 300 T2 1 - 48 T2 h + 4T24h) +

[56 T4y 1 xq Xo

1
Xg + [—1+—
T

yg)/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+

21576 T8 h-39360T A1+ 63084 T8 /1 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 1 +
21576 T8 1 - 10176 T 1 + 4008 T 1 - 1264 T2 h + 300 T 1 - 48 T2 h + 4T24h) -

[208 T° y 2% X Xo

1
Xg + (—1+*
T

yé)/(4h_48Th+3@@T2h—1264T3h+4098T4h-

10176 T° h+21576 T A -39360T 1 + 63084 T8 h - 90048 T° h + 115464 T 1 - 133728 T* 1 +
140380 T2 7 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 1 +
21576 T8 1 - 10176 T2 1 + 4008 T 1 - 1264 T2 h + 300 T2 1 - 48 T2 1 + 4T24h) +

{512 T v 2% X Xo

1
Xg + (—1+*
T

yé)/(4h_48Th+3@0T2h-1264T3h+4098T4h-

10176 T° h + 21576 T°h - 39360 T h + 63084 T8 h -90048 T° 1 + 115464 T 1 - 133728 T A +
140380 T2 7 -133728 T3 1+ 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 1 +
21576 T 1 - 10176 T 1 + 4008 T° 1 - 1264 T*' 1 + 300 T2 h - 48 TP 1 + 4T* 1) -
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1

[952T7yh4xe Xo+ | -1+ —| Xo yé)/(4h—48Th+300T2h—1264T3h+4008T4h—
T

10176 T° h+21576 T° 1 -39360T 71+ 63084 T8 h - 90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T> 1 + 63084 T** 1 - 39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4T 1) +

1

[1432T8yh4x9 Xo+ | -1+ —
T

xa) yg]/(4h—48Th+300T2h—1264T3h+4008T4h—

10176 T° h+ 21576 T° 1 -39360T 1+ 63084 T8 1h - 90048 T° 1 + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1+ 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 7% h - 16176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4 T** 1) -

1
(1824T97(h4xe Xo + [-1+; Xo

yé]/(4h_48Th+3eeT2h-1264T3ﬁ+4098T“h-

10176 T° h + 21576 T° 1 -39360T 1+ 63084 T8 h - 90048 T° 1 + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 T 1 - 10176 T 1+ 4008 T h - 1264 T2 h + 300 T 1 - 48 T2 1 + 4T24h) +

(1976 T v 1% xq Xo

1
Xo + {—14——
T

yé)/(4h_48Th+300T2h-1264T3h+4008T4ﬁ-

10176 T° h + 21576 T° 1 -39360T 1 + 63084 T8 1 - 90048 T° 1 + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 T8 1 - 10176 T 1 + 4008 T 1 - 1264 T2 h + 300 T2 1 - 48 T2 h + 4T24h) -

(1824 T vy 71 Xe

1
Xe+[—1+—
T

XO) yé)/(4h-48Th+30@T2h-1264T3h+4998T4h-

10176 T° h + 21576 T 1 -39360T 1 + 63084 T8 h - 90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 1 +
21576 T8 1 - 10176 T2 1 + 4008 T 1 - 1264 T2 h + 300 T 1 - 48 T2 h + 4T24h) +

(1432 T2 v 1 xg Xg

1
Xg + {—14—*
T

yé)/(4h_48Th+3eeT2h-1264T3h+4998T4h-

10176 T° h+ 21576 T A -39360T 1 + 63084 T8 h - 90048 T° 1 + 115464 T 1 - 133728 T* 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 1 +
21576 T** h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T** 1) -

(952 T3y 1% xe Xo

1
Xg + [—1+*
T

yé)/(4171_48Th+3@@T2h-1264T3h+4998T4h-

10176 T°h + 21576 T°h - 39360 T 1 + 63084 T8 h -90048 T° 1 + 115464 T 1 - 133728 T A +
140380 T2 7 -133728 T3 1+ 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 1 +
21576 T 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 1 + 4T24h) +

[512 T vy 1% e Xo

1
Xg + [71+*
T

yg)/(4h748Th+300T2h—1264T3h+4008T4h—

10176 T°h + 21576 T°h - 39360 T 1 + 63084 T8 h -90048 T° 1 + 115464 T 1 - 133728 T A +
140380 T2 h - 133728 T h + 115464 T h - 90048 T° 1 + 63084 T 1 - 39360 TV A +
21576 T 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 A + 4T24h) -

1
(208T157h4xe Xo + 71+; Xo

yg)/(4f1748Th+300T2h—1264T3h+4008T4f1—

10176 T°h + 21576 T°h - 39360 T h + 63084 T8 h -90048 T° 1 + 115464 T¥® 1 - 133728 T A +
140380 T2 h - 133728 T h + 115464 T 1 - 90048 T 1 + 63084 T 1 - 39360 TV A +
21576 T¥ 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 1 + 4T24h) +

1
[56 T ¥y 7% Xg | Xg + [71 + f) Xo
T

yé]/(4h—48Th+366T2h—1264T3h+4908T4h—10176T5h+

21576 T®h -39360T  h +63084T8h -90048T° h + 115464 T 1 - 133728 T A +
140380 T2 1h - 133728 T 1 + 115464 T 1 - 90048 T 1 + 63084 T 1 - 39360 TV A +
21576 T¥ 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T2 h - 48 T3 1 + 4T24h) -
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1

[81-17\{}’14)(0 Xe+ | -1+ = | X yé]/(41"1—48TI’1+300T2f1—1264T3h+4008T4h—10176T5h+
T

21576 T8 h-39360T A1 +63084T8 7 -90048 T°h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4T 1) +

1

[4T47h4 Xo + 71+; Xo

2
yé)/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+

21576 T8 h-39360T A1 +63084T8 71 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1+ 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 7% h - 16176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4 T** 1) -

[28 T ynt Xo

1 2
Xo + [-1+ - yé]/(4h—48Th+300T2h—1264T3f1+4008T4h—10176T5h+
T

21576 T8 h-39360T /1 +63084T8 71 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 T 1 - 10176 T 1+ 4008 T h - 1264 T2 h + 300 T 1 - 48 T2 1 + 4T24h) +

1

2
(104T6ﬂz4 xe+(—1+— x@] yg]/(4h-48Th+3eeT2h-1264T3h+4@08T4h-19176T5h+
T

21576 T8 h-39360T A1 +63084T8 71 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1+ 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 T8 1 - 10176 T 1 + 4008 T 1 - 1264 T2 h + 300 T2 1 - 48 T2 h + 4T24h) -

1

2
(256T7ﬂ14 xe+(—1+— xe] yé]/(4h-48Tﬁ+3eeT2ﬁ-1264T3h+4008T4h-10176T5h+
T

21576 T®h-39360T A1 +63084 T8/ -90048 T°h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 1 +
21576 T8 1 - 10176 T2 1 + 4008 T 1 - 1264 T2 h + 300 T 1 - 48 T2 h + 4T24h) +

1

2
(476T87(h4 xe+(—1+7 Xo y%]/(4h—48Th+3@0T2h—1264T3h+4008T4h—10176T5h+
T

21576 T°h-39360T A1 +63084T8 1 -90048 T°h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 TV 1 +
21576 T** h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T** 1) -

1

2
(716T97(h4 Xg + (-1+ - y%]/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+
T

Xo

21576 T®h -39360T  h +63084T8h -90048T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 1 +
21576 T 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 1 + 4T24h) +

1

2
[912Tleyh4 xe+(—1+f Xo y%]/(4h—48Th+3@0T2h—1264T3h+4008T4h—10176T5h+
T

21576 T®h -39360T 1 +63084T8h -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1h - 133728 T h + 115464 T h - 90048 T 1 + 63084 T 1 - 39360 TV A +
21576 T 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 A + 4T24h) -

1

2
[988T11>(h4 Xo+ | -1+ — | Xe y%]/(4h—48Tﬁ+300T2f1—1264T3h+4008T4h—10176T5ﬁ+
T

21576 T®h -39360T  h +63084T8h -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 h - 133728 T3 h + 115464 T 1 - 90048 T 1 + 63084 T 1 - 39360 TV A +
21576 T¥ 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T h - 48 T3 1 + 4T24h) +

1

2
(912T12ﬂz4 Xo+ | -1+ —| Xe y%]/(4h—48Th+300T2h—1264T3f1+46@8T4h—10176T5h+
T

21576 T®h -39360T  h +63084T8h -90048T° h + 115464 T 1 - 133728 T A +
140380 T2 1h - 133728 T 1 + 115464 T 1 - 90048 T 1 + 63084 T 1 - 39360 TV A +
21576 T¥ 1 -10176 T h + 4008 T 1 - 1264 T 1 + 300 T2 h - 48 T3 1 + 4T24h) -
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1

, ,
[716T13yh4 Xo+ | -1+ —| Xo yé]/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+
T

21576 T8 h-39360T /1 +63084T% /1 -90048 T°h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 7% h - 10176 T 1 + 4008 T° h - 1264 T h + 360 T h - 48 T h + 4T 1) +

1

2
[476Tl4yh4 xe+[—1+— Xo yé]/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+
T

21576 T8 h-39360T A1 +63084T8 71 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1+ 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 7% h - 16176 T 1 + 4008 T° h - 1264 T** h + 360 T h - 48 T h + 4 T** 1) -

1

2
(256T15yh4 xe+(—1+— Xo y;]/(4h-48Th+3eeT2ﬁ-1264T3h+4@@8T4h-19176T5h+
T

21576 T8 h-39360T /1 +63084T8 71 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 T 1 - 10176 T 1+ 4008 T h - 1264 T2 h + 300 T 1 - 48 T2 1 + 4T24h) +

1

2
[104T16yh4 xe+(—1+— xe] yéJ/(4h—48Th+300T2h—1264T3h+4008T4h—10176T5h+
T

21576 T8 h-39360T A1 +63084T8 71 -90048 T° h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1+ 115464 T 1 - 90048 T> 1 + 63084 T 1 - 39360 T 1 +
21576 T8 1 - 10176 T 1 + 4008 T 1 - 1264 T2 h + 300 T2 1 - 48 T2 h + 4T24h) -

1

2
xe+[—1+— Xo yg]/(4h-48Th+3eeT2h-1264T3h+4@@8T4h-19176T5h+
T

[28 TV ynt

21576 T®h-39360T A1 +63084 T8/ -90048 T°h + 115464 T 1 - 133728 T 1 +
140380 T2 1 -133728 T3 1 + 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 1 +
21576 T8 1 - 10176 T2 1 + 4008 T 1 - 1264 T2 h + 300 T 1 - 48 T2 h + 4T24h) +

1

2
(4T18yh4 xa+(—1+f Xo yg)/(4h-48Th+3aeT2h—1264T3h+4998T4h-19176T5h+
T

21576 T -39360T 1 +63084T8n-90048T° 1+ 115464 T 1 - 133728 T A +
140380 T2 1 - 133728 T 1+ 115464 T 1 - 90048 T° 1 + 63084 T 1 - 39360 T 11 +
21576 T h - 10176 T 1 + 4008 T° h - 1264 T** h + 300 T h - 48 T h + 4T ) +
((-T°vh*xg+8T>yn* x5 - 34T vy h* x5 + 96 T° v h* x5 - 203 T® y 1 x5 + 34477 y h* x§ -
492 T8 v n* x3 + 608 T2 y 1% x3 - 653 T2 y 1* x2 + 608 T y A x3 - 492 TV y A* X2 +
34T y ' x5 - 203 Ty n* xg + 96 T y n* x§ - 34 T y 1 x§ + 8 TV v ¥ x5 - T y 1% x§) v5) /
(4n-48Th+300T*h-1264T° 1+ 4008 T*h-10176 T° h + 21576 T°h - 39360 T' h +
63084T8h -90048T° 1+ 115464 T - 133728 T' 1 + 140380 T2 1 -
133728 T A+ 115464 T 1 - 90048 T 71+ 63084 T1® 1 - 39360 T A +
21576T18h—10176T19h+4008T2°h—1264T21h+300T22ﬁ—48T23h+4T24h)}
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